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Question 1: (30 points)

Choose the correct answer, write your answer i the table below:

1. The degree of the polynomial 8x* +3x" +16x° —41is:

a) 16 b) 6 c) 13 d) 8
2. "Twice a number mcreased by five " 1s translated to:

a) 2x+5 b) 2x° ¢c) x+10 d) 2x-5
3. The x — intercept for the line 3x+06y=121s:

) (12.0) b) (40) o) (0.2) d) (3.6)
4. The simplification of (2a°h*)’is:

2) 8a°P° b) 6a°h° ¢) 8a°h° d) 24°h°



5. The equation of the line whose slope 1s4and containing the point (—2,-3)is:

a) v=—4x-5 b) y=—A4x+5 c) v=4x-5 d) v=4x+5
6. The solution set for the equation M =518
a) {‘3} b) {—5} c) @ d) {i—ﬁ}
7. The first coordmate 1s always negative in quadrants:

a) land II b) IT and III ¢) Iand IV d) IIT and IV

2
8. The simplification of 273 1s:
a) 3 b) 12 c) 9 d) 27
. . o (x—=D(x=3) . .
9. The set of numbers for which the rational expression 1s not definedis:
(x=2)(x-5)

a) 12.5] b) {-2.-5; c) {3 d) {-1.-3j



10. The result of «J—EOO 1S :

2) 102 b) ~10y2 ¢) —1032i d) 1032i

11. The factorization of a* —81 is:

a) (a-9)a+9) b) a(a—8l) ¢) (a+81)a-38]) d) (a-9)a-9)

12. The Greatest Common Factor (GCF) of 12x° and 20x" is:

a) 240x° b) 2x ) 4x° d) 60x°
, , ‘r - 2‘ ,
13. The domamn of the function f(x)= IS:
Jx+5
a) {T‘ x 15 a real number and x > -5 } b) {T‘ x 15 a real number and x = 2}

c) {T‘ x 15 a real number and x > —5} d) {T‘ x 15 a real number and x = —5}



14. The interval notation for the set {x | -3 < x <6} is:

a) (—16) b) [—16) ¢) [—3,6] d) (—3,6]
ﬁ_q i
15. The result of the divisiougxﬂ ; i 18
2x
a) 4x’ —x’ b) 4x* -2x ¢) dx' —x d) 8x* -2

16. The result of the multiplication (2x+1)(3x+2) 1s:

a) 6x° 45142 b) 6x* +7x+2 ¢) 6x*+35x+3

d) 5x*+5x+3

17.If f(x)=+5-2x.then f(x)= J-21is equal fo:

a) | b) -1 ¢) -3



18. The set {.....,—4,—3,-2,-1.0,1,2.3.4,........ }1is called the set of :

a) Integers b) Whole numbers ¢) Natural numbers d) Rational numbers
: L . 2].
19. The simplification ot—‘ 3 1S:
2 2 3 3
a) = b) -2 &) 2 d) -2
) 2 ) -3 ) 2 ) -3

20. The equation illustrated by this graph 1is:

a) x+2y=-2 b) —x+2y=2

c) 2x+v=-2



Ouestion 2:

1)

1 3 1 B x+1+3+2x-1 B 3x+3

2x—1 @x—D+1)  x+1  (2x—Dx+1)  (2x—Dx+1)

 3(x+1) 3
C(2x—D(x+1) 2x-1

3 L .i_
2) 2x 51 . 1=
(x+1)° 3—x

2(x — 3) (x+1)(x—1) —2(x—1) —2x+2
x+Lx+1) —(x—3)  x+1  x+1




nestion I:
1) |1.1'—3|=|3.1‘+1|
There are two cases to consider.

Either 2x-3=3x+1 OR 2x-3=-3x-1

)
Foreithercase x=—4 & forOR case r=— thesalutinnset={—4.,
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) ¥ -2i+3=0

A=b -4ac=-3 x=_b+( ‘ I—M ‘ T—iﬁ

I=li‘ﬁi Thesnlutiunset={1+ﬁil—ﬁf}.



Ouestion 4:

1) %x—l£x+% —>

The solution mterval = { —a0 E:l

2) 5|31’—].|—?-“-_"Ei

spx—1=z15 mEp |3x—1|=3

Either

For etther case x = % and for OR case

The solution 5e1=(—:l:-__—3:|u[— mJ i
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Ouestion 5:

x—yv—2zr=1_. . ....(])
X—=3VW+2E=5 e (2) Take the first equation with the second one and on other side
2x—3v—4z=2 (3)
take the first with the third and eliminate z .
x— y-2z=1 —x—- y=-2z=1)
X—ay+2z=35 2x—3y—4z=2
2x—0y=06._.......(4. y=0

Substitute the value of y in equation number 4 and then find x | we have:
2x—6(0)=6 Implies that x =3 now find the value of = using any equation of the system.
r— y-2z=1

3—0-2z=1
z=1

The solution point =(3,0,1).



